.2 H6BM;GMB2 B2 /2 H ~ BbQM " H "~ BbQM
mM2 MQmp2HH2 TT Q+?2 /2 H bda+m
>Q'i2Mb2 "H xbBM

hQ +Bi2 i?Bb p2 ' bBQM,

>Q'i2Mb2 "H xbBMX .2 H6BM;aMB2'B2 /2 H ~ BbQM " H > BbQM T  iB[r
ba+m BidX :2biBQM 2i K M ;2K2MiX 1+QH2 L iBQM H2 amTa'B2m 2 /2
LLh, kyR91LJSyy3N X i2H@yRkdj38]j

> G A/, i2H@YRkdj38]
2iiTb,ffT bi2HX “+?Bp2b@Qmp2 i2bX7 fi2H@yR
am#KBii2/ QM R9 62# kyRe

> G Bb KmHiB@/Bb+BTHBM v GOT24WB p2 Dmbp2 "i2 THm B/BbBIBTHBN
"+?Bp2 7Q i?72 /2TQbBi M/ /Bbb2KIBEBMBR MNQ@T™+B2® " H /BzmbBQM /2 /
2MiB}+ "2b2 "+?2 /Q+mK2Mib- r?2i?@+B2MMiB}2mM2b#/@ MBp2 m "2+?22 +?22- T
HBb?2/ Q° MQiX h?2 /IQ+mK2Mib MK VW+RK2Z2EF IQKHBbb2K2Mib /62Mb2B;M
i2 +?BM; M/ "2b2 "+? BMbiBimiBQWER BM?8 7M#M2I @b Qm (i~ M;2 b- /2b H
#Q /-Q 7 QK Tm#HB+ Q T ' Bp i2T2HRAB+B @2MT2BIpXib X



#)

%

3 %

M TH#H%

%

) ),

%

) (3

% & ()
mn #
()#*

- ) ./ 0

$
|

1 - " I#% %W
3 ) 45 3 6) /

7 5( 8 4 9

5 3 ) - 1 #
< =

$ %

&

9# .
9# .
9# .






+&+

$ $#

$#

"1&:

%

4,

# $
4 /
89

+*

&7

$%

$%

$ 3

$3






#$

##

%



G H
ICJ

( #

$#

%

$#



ATA.

I
=

I
>

>1=&9%

) $



> 1>

> 1A,

>

Al>
A

A

A

3

ATA,

>
>

>
>

= $ $
# |
> # $ $ 9
!
O
$ |
= % $ |
> $
$ I$
$'$
5 $ 9 $
$ !
> [
!
#
|
!
T P $ $
) $ $ !
> $ 3
+CE
$ $!
!
> 9 )
!
$#
!
=4 [
$#
# 4 |/ I



I
=

$#



> 1A

A 1

#9$



> 4

> 4

\Y

X $

%

>1>, %

>D?

>DE

$#

$#

$# $

/!



Al>,

A 3

3JA

A3>9$

1



D OO OO O

S$

G $# %

G

#9$

Q%

J@

?D

?J

$EB

EA

>B=

>B>

>AB
>A>
>AD
> BB



G
$

$ 3

&

#9$
$ |

L+&+M
$ 9
7) $

14!

#
$
$
L&7TM L
$ #
#
#e $
$
)
#0012
$
$
$
$ 7
A

%

*17.

+ &
7
$
>SB=>M
$
#
$$
#
$
§
$
$
$ $
# I$ # G
$ #
# $
>BBB |



$#

$ 3

9

%

>B=CM

15!

$



1 $
$ $
# =—E@>M
G #$
! d
+
$
N
$
$ $
$
$ )
$
) $
#H -
L # 5
$
, $
$
$
>B=>M +
T T T
A

16!

=> BBB

$ 3

#$

$#



$ 3
$ 4

% 8 )

>B=BM

$

$ % #
## $

17!

$3



18!

L& O

$
G ) ) #
$
>JAM +
G
>BB=
4
#
P
$ $
$
#
#
$
$
w $
$
) K 9



Y (
# G $ |
4 4 $
L M # >B==M
$
$
9 ! # o
55 - &
+ $
& O 4
$ $
&
LG M )
9
& O $ %
)
$$ G
$ $
#
$
$
$
+

LLLLOL L v e mer e

19!

LG

$9%

L+

4]



$
$ $ L $
$ $M
# $ 4
L # M
$
$#
$
$
$#
$
$ $ 1 $ #
$ G #
G $ | $ #
# 9
$ # $
$ $ 6
$ °s
)

#

TLLLOLU O vt e mereeeren

P$

20!



7

$9%

21!



$ 3

22!



23!

>M



) $ $ #
$ $ 5
$ $ $ $ $ )
% $ O
$ $ $
J 4 $
+ $
$ $
—E@J $ $
o) $ $ 7 $
$ 1%
# )
$ $ $ $ F $ $#
9 L 9 $ # M
% $ 9
% $ $ L+ >BB?N
$ *1." L=EE=M $ $ $ #
T ey
¥ $ U $
$
72 $ % $
$ $ % $ $ G $ 1
$ + ) )
$ $ % $ #
$ $  # $ +
) $ $ $ ) $ #
# 8 #$
# # #
$ 1 $ $ "H )
# $ "# S $5# $

24!



< $ $3
I
L$
M $
XM $ $
$
) $
$
O
)
U G ) $ I
U
$ $
) 38 $
#
$ #
>BBB U >B=> 7 Q
9
$
$$ 9
L >BB? U V 8
>B=AM U
4 4
$
$ $ $
#
$$
$ $ # Y

25!

4/

>B=A U ,



L>BB?M
6

26!

L2

$ $ L>M

$# 9

>BBAM



# #H#
L2 M %
# $ /
$ + $ $
$ =E?B —E@B + %
$ #
) $ + # )
G # I
$
#$ L= =M
# L=>M 7
$ #
$# $ $
#$ L= AM
= $
#
+ 3 -\ L=EECM G /
$ $ G
$ 3 G $
# #$
* # $
9 O #
$ $ # G $ |
$ I
4
# L= = =M $
# G $ # #3 | L= = >M

27!



# G 9 | LV =
$ # G $ #
) # )
$ # |
G $ ] A ) | L
>AEM + # #
$ / $ # 9
$ $ $
8 Q G , / G
| G | $ | L8 Q =
i ) $
$ $ 9
G $ # | 3 \
' $ S $  # $
) #
$ ( $ G
$
$ $ | L+18
o) #
# G | $ #
$ $ $ $
$ $ T*T
$ 9 9 4 #
L >BB>M
$ $ L )  $
$ 9 $M
# * L $
L $
) $ M L 9 4 3 l
$ L" =EE

28!



$ P
#
$
$
$ $
) #
.
4 L
)
$

AAA4AACM U

4 #

% )

=EEC

29!

P
$ $
L: =E?EM
$
) ' G,
4 | ) #
$
$ | L"
4 |
)
$ # #
L7 =E??M (
$ 4 3
! 0
# $
>BJM
/
G #
LXM
7 %
|
9
G
L7 =E?A A=JM
% $ $
9 9
o)



#$ $

- L>BBBM
L=E@JM
9

$

—ED@
$

30!

>CDM

$#

$#



#9$

%

31!

$#

#$

S$
=EEJ TT*NV
G

9



G
$ +
@>M
$$
9 %
$
$
#$ G
$# $
$$
$
+
$ #
) $ $
$
$ U
$ /
$
#
L=EJ?M
$
G #
?=M U
9
# /

32!

$%

$%



=E?C ?M

>BB= U K 9

$ 3

$

A AM
/
L4 F
) !
+ 4
LXM
$ #
#
$
#$ $
L& O =E@DM
>B=CM U
#
# I
5G
#
$
$ *
) $$
G # $ |
$

33!



#9$

$#

34!

$ ¢



9%

35!

# $ $
$ 1
#
$ 1 $ #
#
O # ) # L= > =M
$ $ %
L= > >M
K 9 - # G : $ # $ P
P $ ) ) #
$ ;
/ $
$ I L # “E@> =@M
F
6 )$
# + 9 $ $
G , 9
$ / G Yl $
| $ # LXM N
#
) | LK
# $
| L: =EJE 2 =E?JM G 4
$ $ 3 M
# + $



| L2
G * $
9
#
) I L
#
$ +
$
$
4 4
+ $
G #
#
$
)
$# #93
9 >BBBM
#
)
# I L
L
M
# G 9

36!

>B=AM +
9
$ L$#
$
/
5
$ #
L: >BBAM
/ +
$ $ $
$ 9%
(
# L
$# $ $
$ L



$ $
EEM U %
L= A =\
)
' $ G, $
%
| L. “E@A EJM U G
$
| L ===M 1
L= > >M # #
$
# #
#
| L2 9 $ 9 =EECM
7 o $
) # #
6 $
$ + $
L M >BBD ?BM $
( G,
# $
) | L >B=> =
I $ #
K " L=EEDM G
$
$ $
#
P $ $ $ $
#
| #
/ $ / #

37!



#3$ $
P
$
M
M
$

U

L&

38!

#$

Q >BBDM

?CM

$ $1IL.
O

$
$ $
L#

$$ M

$
$

$#



O # )
) #
# $$ $ %
$ S # +S $
$ $
$ O
# | L+ ## + L M =EEB JICM
G , 9 # %
$ |
" E@A ===M
+ $
/
: $ $ $
# $
# $ G $
#
6 $
+ $
$ #
| U G
* P #
$ P o) $
LXM $  # $#
# #$ 1 L+ - # =E?? AB
$ $$
$ * #
$ / # # $
$ 9 #

39!



) #
$ %
P 0
G H $ 4
$ G - |
$ % | L =>M + $
#
$ $ $ $
LV >B==M 7 $
$ $ $ . $
# LK # >BBJM $#
9 $
>BBEM
) #
# 7 # # )
$ # )
) $ #$ $
L # =—EEAM + $
/ % $
% ) L+
# 6 $ #
W G 9
$# ) |
$# G 9
)
$# 9
W $# $ #
LXM $# )
$ #
#
# $ # |
>BBA =DM , $ $# %

40!



G $ | $
#
$
$ 2
# @)
$ 9 $ L+
)
)  $
#
$
+ =EEE =>AM
( 9
$
¢  *
) )
# F
LXM 7
6 L
=@BM #
#
# 4
U )
# |
1
$ #
6 (
G $
$
#
L" =EEC =J=M
$ $

41!

L

M

M 1

=EEE

L

EJM



$
$5
$
6
L M =EE=M
)
$
6
$
$ $
6
$
=E?DM
L
G
$
6
#
#
P

I L
=EEE

G * )

42!

=>DM

$# $



43!

$$ #
$ 9
> 7
%
# / $ #9$
# $ 6
4 4
%
= A F
#$
#
$ L
M
# $ %
+ $ 9
L= =M $ 9% %
L= A >M
& , 0 #
$ )
P
L2
$# %
) 9
+ %
$
<
CA % ! @

%

CBM



>$ ! # o ! # 2?2 @
LV # >BBD A>M

G & $ |
G $ $
| LV J42M
# #3 9
6 $
$ # $ $
+ $ G . $
G -$ |
$ $
7 $
| L $ AEM + $#
K C> $ >0 ; ,
E ! ! ! l'$ , LK D>BBD ) M
$ 3 $ %
$ $ $;
# $ $ # $
$#
) $ $ )
6 + $ * 2 4K
G ) $ ) )
$
$ % $ $ $ | L2 4K
>BBE DM $ #
G $ | L \ Q >B=CM G #$
G H $ .9 $ 7 | LH.7M
$ $ 5
) $ $ ) + ) 8
) G G
| $ G
$ # )
| L >BBDM

441



%

%

$# $

45!

L=EE?M

)



LXM

GF
$

7

# +
L &"M

#$ $

+

$
$#
>M
$
% +
| LH&"M
7
L2 +
H&"
$
$ ! I

46!

#$ $
#$

$#

)

%

%



CG $ ! >0
HI1J #
$ o>
$ $ :
D2D + >BB= =E4>BM
c !
$ ! $ !
# K K, :: D>B==
) # 6 $ #$
$ % +
# %
$
$ $ #
$ #
7 $#
$ $ LG ) $ I G )
$ M $
$ $
G | L& =EEBM $
% $$
6 $
G & 7) $
$ #
$ &7T $
# I L # =EEB U
=EE? U " #9 b >BB=M
$
$

47!

,$
> | !
#
) 9 9
!
$ HIJ
T3***M
$
$
$
# $ 1
#
9
$%
4  $
| L&7TM
$
=EE=
/
) $
K $
4



=@CM

%

%

I LK
$ $
$
% (
/
6 L
/
# #$
&
# #
: # 0
! # >
L&
$ $
W
#
6
$ )
$ $
) $ 6
#
$
$
$
%
P 9

48!



49!



$ $ $ L> =M$
) $ 9
L> >M
$ # 3 H # $ 9
L> AM
> = # 6
6 $ $ #
) *
$ $ L> = =M $
=B G $ | L> = >M  + )
$ $ $
$ ) $ 9
+ $ ( G 9
9%
G
L >>M $
# / i $ ) G #$
#$
$ $$ $ 4 4
$ $ L8 >BBAM N
#
$ : #
$ - S# $
L
=8 G $ / #
)$ % # $ | L+1&:,M * #
$ $ $# $
"B >B=C

50!



L.

$%

51!

L M M+
$
# $
$ | $
$
$$ $# #
$ S )
# G )
$
=E?7? ==M 7
# 9
$ $
I L+ # =E?7?
$ % % $
$ 5 $ +3
$ % $
$ L,9 =EE
$ $
#
L $ $
$ # $
9 $
M $
#



4 |

$9%

$ +
“E@ >
#
G

* *

L=EECM
#

52!

L

D4JM

$#

) #



# $ $ G
$ $ $ $ $
$ @) $ $ $
$ w #
#$ $ ) U
$ $ 9%
?M +
$ $ $ 3
M L $ $ $XM
$ G S
$
S s 9 S $
$ $ /
/ $ $ I L+1&:,M ( #
$ G $
# 6 #$
$ $ 9
) o) # U $
$ 9 #
$ 1 9%
$  # | # *
$
# #
0
L
T $ F F
L. “E@AM G )$
$ $

53!



#

$%

54!

#
$ $
) I'L 3*M
) $
o)
$ $ I L
$
$ $
G |
XM
$
LXM
$ $ $ #
GBBCI L\
"G, $
)
$
# )
@=M
# #
# G
$



$ #
#
/
9 ) $
6
$ #
G 4] I
+ =D=M
# $
$ #
$
$
#
$
#
# $
$
#9$ #
$# $
$ $
#
$ $ $
# # #

# | L: L M >B=>M

55!



$%

56!

#9$



$ $
G $
| L: L M >B=AM
# 1
6 $
#
#
G I $
$ $#
$#
> 2
$
# #
LK # >B=CM +
$
) G
L>>=M 1
G # I
$ %
L> > >M
! M
) G |
# $ %

L>B=A ]=EEB"*"M

>

57!

$

)4/

=E?B



#
> | !
+
$
$
$
$ $
+
G
G ,
|
9
9 3%
#

58!

'$ #
#
$
6 $
$
$ M
) % &T7T
$$ G $$ $
9 $
# $ #
Q > L.&VM & L=E@>M
@)
$
$ 3% $
# L,
$
| 9 $
$ ) #
$
$
6
L, + % >B=B =BCM
)
L=E@JM + # L=E@JM G
)
$ 2
$ ¢ 9 % d
d & L=E@?M $
# )

L+ >BBAI



$

#9$

9 L2 —E@
=E@JM + # LK =EEA =EE? U + 9 =
=EE= 3 # =EEJM 2 L. =E@?M
# $L =EEA U K
L2 >BB=M G
# | #
L $
M # $
$
$ > =1 & $ $
$ $ $ 3
/ $ $$
$ ) $ $ $ G
$ | L& =E@?M $ &
9 )
$ $ $ $ )
# ) $
# $ + G
$ 9 $ $ #
$ - $ L2
$ 3 # $ # L
) L M >BBD U >B=>M /
$ | 3 # L=EEJM
% $ $ # #
$ $ 1
$ 9 G I / /
$ ) # $
# ) $ #
$ 9 # 9
# $ $ K (
L>BB=M #

59!



9
#
L M >BB=M N
) I
$
G
%
#$ 3
#
$# | L
$
$
+
|
$ $
$ #9$
$
$
$
#
) 9 # L

60!

$ #
$ $ 3
$
$ #
) ) #
| $ 3 #
$ $
# 9 $ LX
) $ $
>BB=M
9
) )
$ C
$ #$ $ 9%
# #
$ )
0
G $ #
K (
#
$ #
# 8 Q 9 =E@AM
F



#
#
$ =EDB
#
$
$
K L=EEDM
I >
$ H 18 J
>
L $
CA!
# I
I
!
>0 |
>0
( F

LLLLOL v v e meeeeeen

I L& -

>BBJM

61!

©



H
d JLV

%

62!

$#



63!

$ 9
$ $
| L& >B=A ACM +
$ 3 $ v
" # $ $
N $# S
s L& =EE?M
.9 2 Q L=EECM $
$$
4/
G | G ! #
/
$ G ,
) / | L& >B=A >CM N
# $ v
$ #
(
$  + $ 3
$ $
$ $ $ S#
$
$ $ G
#
$ $ $% $ ¥
| L*1." =EE=M 7 $
o)
$
$ ) $
$ $



1 $ L> A =M
L> A >M
& I |
+ $ * G + $ $
$ # [ # # #
L& =EEB =EED =EE?M 7 $
$ # )
$# ) # 4 : $ $ 3
# I L >B=>
$ $ #
# L )
K >BBJ U >B=BM /I C $%
| | ’ $
s I I '$ I I
! L ! D
>BBC =M # $ ) ) $
$ $ $ $ ( L>
! > ! # % # %
$ #H $ | $ | , | |
)* / $ G
) R7" $
$ / $ | L >BBC
$ $ $ L7 Q
>B=AM $
U
$ U 9 9 #$ #
$ $ #
9 # IM U $
# 7 9 #

64!



F 4&%$# + L>BB@M
G )
U )
$
% | $ $
$ # $ L. >B
$ # $ $ / $ #
$ $ . # L>BBBM
$ $ #
$ ) $ $ P
# $ ) $ >
A $ $
# $ $ ) 9
# $ 9 $ $ $
+ 89 L>BB?M $ $
#$ ) $ $ 9
$ < $ {
$ $
$ $ $ # $
$ $ 2 #
$ 9
# )
>BBBM
9 % $# L& & # >
$ $ $ 3 L+
>BB?M $ #; $ $
#$ $ $ 9
$ L8 =EE? U u \ K
9 # G I
$ $ 9

$ L ) >BBBM $

65!



L* A =M

$
L2
#e $
$ $
L>BBEM
$
9
$ $
$
)
& G
7%
9

\Q
# $
$
=EEEU 2
$
$
/
$
89
$
$ $
$ $
#

#
$ $
$ /
>B=CM S#
$
G >1% $ $
>BB=,
L>BBEM
$ $#
) $
6 L
$ $
9
$ $
#
L>BB?M G /
$
$ #
#
$
$ $

66!

>3P/

$#
19

>B=CM

#¢



HH

$#

$.D 9 >BBEM

9

=EE? U +
9 L>BBEM
$

> |1 3
>0 b
! #
I # L
$
$
!
!
#
D
$ !
772
! $
#$
$
9
#
#
89 >BB? U

67!

#$ $

)$

$

$ L
>B=BM

$#



$#

$
$ %
$
$ 7Q
$
!
# ! 0O $
#
L>BB> >?7EM
9
$ 3
#
+
7 % 3
$ %
$ 9
G # I #
$
9

4

/

U#

68!

=EEJM
6
C,
i |
$1
$ $
$

7

#$ $

L K(M

$%



H #

|
)
$ I
# $
AK # & 9
U
# $#
K & (
=C 9

9 %
<
=EEA $
! 0, #
# | #
L. $D =EEAM
$ #
$ 6
# $
9 %
$ $
) $
K# &
=M 1
9 $%
# G
$
G ) $ $
#G | $
$ 1L,
LK&(M /)
# $ " 9
) $$
# F

L K



70!

) LA >M 7
$ ) V 8
$ $ LA AM
A £ $# $ L
LK&(M
G + $ $ $
| LV >B=> ABM
) $
/ /
) / $$ #
$ )
$ $
7Q G $ / LXM
$
L7Q “E@J =E4>BM
)
#
) +
$
9 $ 1 $
$ # $ $
$ $
N | + $ O 1PK & (M
)
$ $ $ $ $



7 9 ¢$°
) L $ X M
9
$ ) 8 )
$ # $ ) $ L. —E@?N
# $ LK =EEDM
+ $ c! > # $
R$ $ !
HIJ | ! #
# 09 $ !
> | $ I |
> ! L.D —E@? 3***M 7 $
$ $ $
#$
)$ # F 4 U
I'$ 6
$ 6 $ $ :
4 #$ $ 6 $ $
$ $ $ $
)
)
L M L 4 M
G #$ | $
$
L L L
=D # ) G 9 $ |
# G $ # ] n $ 3 $ 9
) I L+1&:,M G 9 $ | $ #
) $



$#

) G

DB4D=M

72!

LK



$ 3 #
$
9
9
$ #
# $ (
#
#
$ $
$ $
& VvV A N+O
!
#$ $ $
# $
$ $ 7
$ +
$ | L a
# 9
2 G
9 # $
) # $ $
>BBM 1
L m
=1 " : 9 L1":M
K # & 9 ( # LK&(M



$
( ) $ ) ) $
G vV IL Al 1'$M + Q L=E@C|
$ 9 $ $
# # $ 4
L | M $ % 9 #
$ $
$ CR ! # $ $
I > | $ $ ! # > #
$ 0 Q =EEEM $ ) Q $ 3
# $
# $ # #
S # 6 $ 9 # $
)  $ $ / $ $
) $ 0% $ ) # + $
. $ G )
/ ) $ 9
) 4 4 F $ $$
9 $ 1L >B== CJIM
* $# $ $ ) K & (
G | # * #
$ $ $ ) $ )
# #
# $
c* | # | # ! $ !
0 #H | | | #H |
# ! Al !
# ! ? ! #
$ > | $ $
# # ! # 3 L D + =EEBM
$ $ $
$ $ $ $

741



# ) $ $ /
$ # # 0$ #
$ ) $ $
# $ $ $ (
$ $ C+ ! >
> I > # ? M
E # ! ! # $ #
$ ! ! $ #
# ! > L , # !
# $ $ HIJ Al $ # : $
$ # ! > ## $
> $ ! H $
? # 1 2
| DL& : DM
( $ $5 #
1":5K&( # $
$ #$
% # $ $
$ # #$
) $ ) #
# 8 ) $
$ $
A & # #
# $ # $ 9
=) = L>BBJM ! # $
! HIJ Al
L L
=@y / G #$ I +$ /
K& ( F $ 1 #

75!



#

> ! 0 !
! # > #
o>
$ $
# $ HIJ $
DL >M $
# # LA > =M
$ 9
$#
LA > >M
G ! ($
$ /
#
# $ >
$ > ! : $ #
HIJ M $ ! >
$ re, $
H# L D 9 >BBDM
$ #
9
#
$ $#
L )
L )
# #
# $
$ 7 K C# >
$ HIJ " # $ ,

76!

$#



L K

$/

#

>BB@M

L K #

#
>BBEM U

77!

H LK # #JD>BB@M
# # K& (
| # $
cM K
# | # #
## #
# $,9%
# | L ! >
# #
$
>B=CM + $
$ 3 $
$ 3
$
$ 9
#
$ 3
$
$
9 # $
)
)
) )
6 $
$
$
I , | 1
;$ HIJ #
# > | # D
$
$ $



$ 9

11

78!

$
) # C !
> $ > #
HIJ * ! H#
# I
# # OQ#
$ . HH# $ # 1 #
! $ L# D >M
$ $
$
$ 9 $
. >BBDM +
$ $
$
LK # >BB @M $
$ $ #
# ) #
$ $ $ G
$ # $#
$
# #
$ 8 Cc ! #
0 $
# >
>1 |
> ! ##
* 7773
! # L8 D >B=AM
# i $
$ #
) L

@# !

$#% $



LV >B=AM ' @ ##

# 4 G
>BBEM # $
$
$
$ $ G
G 4 | L+ =EEE U >BB>M
$ $ # # $
> # # #
H $ | |
! L# D AM
7 K #C
$ | $ | | | $
9 $ d $ G 9
# >B=CM # # K
G 94~ | #
|7 $ $ $
9 # $
9 # #
$ 9 $
# # %
$
$
+ $
$ $
# #
$

79!



# #
$
9 $ %
$
)
$ $ %
% ) #
# $
V 8 C
$
!
$D !
$ | > |
$
>BB?M
$$ 9
>BBBM
$ U
$
G
#
$
# #

4 /

80!

#$ $

K{(



#

$# $ H

81!

) 7 $
)y  #
$C | @L
$
N $
G
$
.
$
$
$
# #
$#
)
#$
#
#$ $
$# #
$ $
$



%

#
$ (
9 $
# "E 9 9
# # %
$ $
$
) \V $ $
#
>B| 9 $
8 # )
4 #
C $ #
#H
! ! L8 #H=E@?M
) ) #
#
$ $
L T
"EG K9 G $ $1 L+1&:,M
+ / # #
/
"B N W $ $ #
F #
# 1 G | $ #
# U
$
#
G

82!

41



7

>1$
D8

LA A>M

8 CAI

> D HK
> | >

=EED

83!

LA A

=M



$3

L8D CAM
# # #
$ $ *
#3 $ 6 $
$ ) G M GL
) P $ G I
6 Al C'c D
! ! > | I'$
| * > 1 2
| > [
P |
D8 >BB= >>DM +
# 8 )
/|  C | #
I D HK 112 &7J E CK!
6 6 > |
K| > > |
| > 1
# | #
> ;. >L8l H >BB=
$
U
$ %
9 $ L8 >>?M
# G #
$ 5
# ) $
| 2 |
U # Y KI$

84!



Y O 2 I
$ # L8 D >BB=
6
$ 9 6
$ % 8
$
+ $ $
) # >BB= U 2 >BBAM
$ $
) $ $ G
$ $
$ GBA! !
$ 2
! > HIJ =
!
# 0 # !
)
#
# $
G I #
$ )
# U
$ )
$
>BB= >>JM +
$ 3 $
$ $ $
AL LR
>= 9 $ #
$ M

85!

$# $

$ 9

) $

) $

) $

L8



HH

HH

H#HH#

86!

8
#
%
4
$ $
$
$
! !
H 18-J
#
F#l !
' #
? =
>BB= —AM
$
$



$ $ $ $
# G $
4 " G¢ 6 $
$ $ ) $
# # 4 (|
>BB> @E EAM ( ) 8
$ $
#
$ 4
% o $%$ 9
8 $ # #$
#
$
$ G I
& & # g ¢
8 C ! ! C >
! D HK 18% J # | N > > |
> > | ? > |
I # 3 I I #
2 > 1 ## $ R$ # $
! > | : $ %
? # # H" | "l BH
# 181J ! # H+$ 113 A!
## # $ !'3$ # > |
: ! > 1 # > + $ $
L8 >BB= >JBM
7 # G 9
) $ $ #
AL LT
s >
A K g $ $ $

87!



Lc ? d
#
#
#
#
8 $
$ #
8
#
$
$ 8
9
G I
+ $
# $
$ +
#
G I 8 $ CK!
! #
# #
# ;
H'S$
>@! > Al
# ! L8 D
4 4 9
# 4 4

$ 9%

88!

>C

$#

##



89!

K & (



90!



$#

$ $
$ #%
)
$ #
)
( L
$$
+ $ $
)
# # %
% ) $ $
# L1
$
+ ) $
% $ 9
$# $ 9
9 5
$
$ $
6/
$ $
) $
#
) $ $ #
$ $ #
Q% $ L8 >BBAM + $

91!



92!

$#

41

L M #
$
$
$
G
$



93!

>M



% 9
# )
) 7
P $ )
4
$
$
$ $ #$ $
$
$ $ L
SB=> U K + >B=A U K
$ 9 $
& O
& O
$# $ $
$# $ $
$
$ $ %
L # “EJ@ JM
&
( 2 G &
& O $
L2 >BBJ =?BM
5
$
& O %
$ $ )
) ! 2
| )
$

94!

$
W
$ $ $
$ # )
$ #
9 >BBE U >B=
>B=CM
$
$ 3 1
$ :
) )
$ 3
(@) % $
$ $
4
7 $ 9
$
$ $
L>BBJ —@@M G
$#
#H +



$ $
$ $ $
+ $ & O
)
/ 1
# $
$ @)
$ $ R $
4 $ ) $ $
$ $
& O ) L
$ $ M
$ $ $ #
$ $ LM # -
G!$ $ 78 * F
$
4 # YI G
I $ $
| LXM
! $ % =D
=? AB $ 3 $
$ G # $
) G 49

TLLLOLUL v v e meeeeeren

26!Nous!réservons!l’analyse!des!données!terrain!alpiitl:thaEbB,!Ia!situation, lestlicilutilisée!
uniquement!aldesl!fins!d’illustration!et!de!pédagadji

>? u

$ $ L*.M$

95!




! +
!
LX M
#
}Ho.- / # -
$ #
# 0 ! # -
07 $
0 G 9 # -
Y | $ )
9
4 # $ 3
| LXM
$ #
4 ) $ 4 $
$ 3 #
$#
# 0 LXM
# # # G
) $ $017 X
# ) $ $ G F # - LX M
$
#E #

LU L L LN E e

$ #
G )
=DfDf
#
$ $ 3 #$ $
#E L
) $

96!



AB

L X M

97!

X 4
F O
6
$
W Z 2 X
Az % - $ o+
# 0 LXM
1 4 $ ) $
$ #
+ ) $
$
) $ $
) o)
$ F
Il L>M + $
# $ P ) ) #
$
$ $ LAM
8
$
$ L= =M )
$ 9 #
$# # L= >M
) G |7
0
# L= AM



= = 9 $ $
4 |/
K $ $ % # )
, $
$ # # $ $# )
$ A>
9 K H# & O
# $ M, %) s #
) AKX $
$ $ $
$ , $ % # $ $
9
$ $ $
G )$ AP $)
7 $ 9 $ % # & O
$
/ 9 $ +
L M $ L
L i
A> =@ PE $ L=?J@ P =@ACM
MG + F # $) ) 4 4
LX M $ $ ) TT LXM
# 3BBCM $ $
$ G $ $ $ # $1L ADM=E?J
$ # 03 $ G
) $ $ # 1L M
AC =E PBS L=@DE P =EA@M
AD G $ $ # S S$ M S L
S ) S S S
G $1 1 L 4 =91 LLECD $ $
$ / $ % $ $
$ LXM 4 4
) $ L #$ ) /M
% # $ LXM .
$ $ $ $

| L& )>BBC CJM

98!



$93

[l

$

I
<

$

)

LLLLOLU O v e mereeeren

99!

$

$
$
# $
L
$ 3
=E@J ABM
$ 1L
)
$ )
$ $
#-)
$
#
H -
L=EJJM
$
$



1
-
+

$ # - G
|
& O $
$ $ G $
$ % ]l& O A G
) | LXM $ # / LXM |
D=M + $ & O
6 A? $ G 4/ ] A
@[l L& O “E@J JAM & O )
/ $ $
$ r@
) $ $ 3 # G
o) / ) $ | L J
& O $
$ # G O | $
$ $ $ ) #
G , $
#
L JDM $
$ $ G
9
| L& O “E@J =>@M ( 9 $
$ $ $ $
$ 4 # $ #
$ $ G # o) | & O
# o) G |
$ $ %
AR LA AR AR AR AR AR R R AR LA AR RN
A? $ $
$ 0% $ $ *rx =
AQ@, > k% A

100!



1
-
+

$ 9 $
# G O |
9 ) 8
$ @) 4
AE ) 0 # - G
| 4 4 # #
$ $ $ $ ©°
$ $ $ LG
| M ) $ # ) $
LXM $#
IM
9 $ $ $# )
)
$ $ 9 $
G $ $
0
| L& O =E
+ G
$ P )
# $
H#H -
# & O G $
$ 9 # $ G $ #
$ 9 # #
| L JDM ' # # % ) $
$ $ 7 $ $
& O $ 9 #
$ ) $ W K G
AR LA AR AR AR AR A R AR NN AR RN
A, e 0 ) o kxx A
$#
ce ) $ # #
A

101!



$

$

JaoM

|l L& O —E@J

TLLLOLU O v e meeeeern

102!

) $
J=M 7 $
9
$
G
@) >BBC D>M
$ |
$ L& O
$
$
$
>B>M P
G $# | G
$
)
L=EE=M
$ / )
$
$
4 $
$
>B=CM
= .3 $
9
$ $
$$ $



) $ ) L
$ ) M $
$ (
9 $
) $#
$ $ # $ & O
$ $
$ # $ # # L
+ $ $ $
$ $
c> # $
#$ $ $
G I $
$ % $ #
$ $
$ $ $
9
$ # $ " P
# $ # 7
$
$ $
# $
# $
$ $$ ##3$ $
w $
$ )
$ 9 $ 9 $
$ $ $ $
$ $
L
€1 A C



4

/

104!

4

/



) $ $
L& O —E@J =ABM $ & O
$ 4 |/
# $ $
W $
$ $ G I $
$ & O G + $
$ ) $ )$#
# U )
P P $
@) W
L& O =EJE >JM
$
$ ) 4 |/
4 |/
)
G G $ 9% ) #
# I L >BBJM G ,
I L& O —E@D AE=M
" % $ $
G ; I $
$
G ; I $# 4 /
$# $# + H# -
H -
$ ; $
$ 7 ) $4 |/
G ! 0 1
+ ) $ $ @)
G I $ 4 / $
$ "G,
) $ LXM ( ) $

105!



/ +

106!

$ $ I L& O —E@D CCA4CCCM
G K $ $ ) $
|l L& O
# - $
# $
$ $ + $ !
# # % $ ) S #
# ) 7
| L >BB@ ?2=M +
$ $ )
$ $ 7 $ $ P9
P
/ $ $ # $ )
$ W
$ $ $ $ + )
$ $ $ & O
$ 7
I L& O =EEB >==M # $
H - $ $ )
$
$ $ )
39 G 4 / | $
$ $
& O G /
L& O =EEB ACDM
= 3 $
$ F 6
$ + 6 $
+ 4
$ $ # $#



4

/

L=>>M

G
$ ## |
) $ /
#
4/ 1 L& O
) $
G
$ I L& O
>SB=A ADDM 2
Y 4
$ # $
CC>M + )
$ $
$
#
$3$ #% 3 9

107!

) $

) $

4



G
L& O

$

/

—E@D

LULLOLU L v e mereeeren

108!

$
LXM
$
CAL L CCAM *
$ @
) |/
4%  # L& O
AD@M
$ g
$
)
G
=C>M
G
$#
$ | L&
$4 G $
$
/
$ ) | L
$
G 4 | |
%
CCDM
$ $ $ G
$ $1 L& O —EEB

%

$
4
%
#
$ # $
U
>B=A ACDM
G )
/ LXM 3
I L
$
L M
>B=A
M 7
9
4 |/
ACJM



I, $ # G
| 7 $ G
4 |+
$ #
Z $
| L AA4ACM
% #
| L M
$
G 4 |/
$
| L& O =EEB =CAM
$ # G
L =CJM
$
$ $
$ % 9
$ 3
G ,
4
=C?4=C@M
$
$ $ $

109!

LXM



#
$
$
$
$
!
O $
# N
$
+
/ $
+ # #
& O G
G $ #
$4
ccC
QAN RR AN NNNNNARR AR AR,

$/

110!

$ 3%
9
>B=A
4
G
$ )
$ $
$ %

$
A@BM
$%$ #3% %8 $



# $1 L& O

CCCM

**I
#
S $
* % +
$ $
$ # %
—E@A =>>M
4
$
$
#
$
L& O
$
)
CD

TLLLOLU LU v e meeeeeren

111!

* k% %

G (

Il L& O



P # $ $$
$ 7
O
) $
# $
$ $
# %
$ $ #
$# O
# 4 4 #
:A #
# .
& O G $
$ #
$ (
$ 6
$ ) $
L=A =M 1 $
L= A >M $
& = !
0
& O G )
=E@J =@?M
* $ G
/ # # $ %

112!



@) $
H #
) $
, $
LXM
$#
$
$#
$ M
$
$
$
G
& O
+ $
$
#
O

113!

=EBM

+

LXM



8

L>BB=M

=ECM & #
) $
LXM 9
$
)
$
G |
$ F

114!

LXM U

$ 3



$#

#
=EDM
4 4
G
$3
$
$
G
$
$
G |
)
#

115!

$

)

$

) #$$

$ 3

LXM

$%



) G $ $ 1
#
$
$ %
+
4
G
&
#
$ & O G
4 4 G
L& O “E@J >=EM
$
$ $
#
$ %
$ % )
/ $4
$ G
# M #

116!

$ 3

L& O

ClJ

$#
—E@D
$#



=E?B

117!

$ 3

LXM 7

$ 9



$

L
>BJ4>B?M

)M

$LG )
2% $

LXM

118!

I M

LG $

%



$#

$/

119!

>B?4>B@M

$/

>B (

(



+ & O G #
) G | G $ | G |
# $
4 | # $ | L M+
G |
4 | 0 0
$
$ $ $
$ ) $
+
+ # $ O
$ $ # % ) $ $ 7
$ $ G $ & O $%
0 / #
$ # | L2 >BBJ =JDM
# )
$ $ & O ) $ $ 9
@) $ $
$ 4 $$ #$ $ S ) $
$ $ $
/ $ G I G I $ $
$ # + P
$ # ) $ $ $ P
) W $ # $ $
$ L ) + # =E?? U K >BB.
>B=AM O 7
$ $ ) ) )
$ 8 ) ) $ $
( / $ $ $

120!



)

121!

$9%

>SB==M

%



122!

L> =M $ #
$ # LA =M 1
$ & O $
# $ )
> &% ) #
: $ & $
$ $ F L& O =EJEM G
$ | L >BBJ >SE?M
|+ $ $
$ G I G
$ $ I L M
$ $ $
O $
#
$ )
& O # $ $$
$ L> = =M #
P $
L> = >M
|
+ & O $9 # # $
G G $ "G, # U
$ @) LXM
Il L& O =EEB >BBM & O
$ G $ I $ $ G
$
$ 8 $ $ I
L M & G =M $ $



LXM

) #

$
) $ #
>BB P >B=M
$
G
I L
$
6
$
$
#
$
) $ /
$
$
L $

123!

$ U AM



>AEM

4
$
| L& O
$$ #
M
$
$4
#
$
w
< I )
)
CE||.$ $M
$ #
$

124!

$
#
) & O
G
$ #
#
=EEB >A?M
$
$G P
)
G I L$ M
>CBM
G
| L& ¢© =
| L M
$ #
$
$ #
$
$
5 #$ $
$
4



$ & O $ G I $ # G
$ $
$ $ # G |l L& O =ZEEB >BBM
& O G $ $ I $ # G $
|l L& O =EEB >B>M +
# $ G ) |
4 $ $
# ) $
4/ $
# + G
L M $ ; $
Il L& # >BBJ CCM
$ 3 9 9 #
G I
) & O $ G
$ $ 8 $ #
$
) 4 $ $ $
$ $ 1
L& O =EEB >BJM
$
$
) #
$ $ $
$ G
G # ) #$ $ #
| L >?EM ) ) #$ $
$ 4 /| | G $ I # G

125!



$#

|l L& O

%
I L

# U
=EEB

CBD4CBJIM

126!

$ 3

&%
4 |/ $

$
AB?M

#
$ $ $
ABEM +

$
I L2

$ 3
#

A=AM



127!

$ | L
$ G $
$
) !
$
#
)
(
)
) # |
G
L AAA4AACM N
$#
# "G $
$ $ % /
)
$ $ 7
/
2 41
$
$
AAC4AADM & O
$
#
H



%
G ) |
G , LXM
P #
| L
, $ $
#
$ $
#
$ /
+
#
Le
4 |/ 9
#
$ $ $
$$ 4 |/
DB + $ $
AL LR
DBl 5 $ $
9%

$ 3



> > o)
$
$ $# $ $
(
$ 1 $
$ L> > =M $
) G $
L> > >M
# [
+ $ P $ # $
$ $ $ %
$ W ) $#L M
W G I & )
/ G
) LXM
4
* # # L M
$ LXM * # )
) 7 )
LK #M I L >D=4>D>M
$ $ #
$ $
G I
G $ $ |
G I L& O =E
& O
G $ $ 1
L $ M :
F $ L
M U

) $

129!



4

/

%

$#

$9%

130!

| L& O

=EEB

$ 3

4 /

G
>@M
#
9 $



LXM

L& O =EEB

L& O =EEB

>SA@4>AEM

$#

G

131!

$#

4 |/
b= $
$ LXM ,
>=A4>=CM
$
4 4 D>
$ P
4 |/
[
H 4
6 Y

4

/



$
]
I L& O
| L
it
9
F
) 9 F
$#
G
$ G
$#
" #
#
$
9
$# %
UL
DA12
$ $" @[
DC G
DD(

N

$ #
=EEB

6
# $
>A?M Er ©
| L >>BM
$
G G, $
4
A@=M
I L >>>M & O
$
$
L M +
$# $ W 9 %
$#
# ’
$1 L2 >BBJ
DD
# 4
>>AM U
$
4 1 9
$ >==4>>]
# 4 4
5% % # $
A A >

132!

>DJM

$#

M



%

133!

$ 3

$#

$#



134!

$
# $
$ 9
$ #
Il L& O =EEB >DCM &
o) A il
I 7
4
>DDM & O
LXM $
$ $ G $
# P
# I L
W 9 %
$ |
) $
9 %
P /
LXM
4 | L
$ L
# 4 3 )
$#
$
$
$ G $ | G H

$ G %
$LXM @ #

>DJM +

$%

$



135!

$
LXM Y | L
$ $ #
$ $ $ $1 L
$ 9 3 4
$ 3% $ #
L$ $M #
$
$ $
$ $
4 |
9
G |+
$ 3
> A
+ $ P $%
$ % $
$
|
$
$ #
$ + # $ %
L> =M

>JB4>J=M

$ G

>J>M

$#

4 [

L=E@D
& O

4 |

C>4CI

L> A



&
#
1 $ G I G $
G | $ G ) |
- & O G I G 7 $ I
G $ $ IL& O =EEB C?M
$ $ $
G # DJ ) $
| L CEM , $
L 4 M G |
& O $ G
$# I L M
+ $ L 4 4 M
$ 3 $ %
% 4 / $
/ $ P
$ ) $
+ $ % $ #
| 4 |
9 $
$ $ G " $ L XM $ %
4 4 G
$ $1 » $ 3 $#
/ 4/ 1 L& O =EEB A
/ $ L $M
$ 4 ) $ M SL $
# $# +
$ % # L
T
°V_ % G H $ $$ $ $ 9 9
G I L "+1&:,M

136!



6

$#
$ 1L

137!

= )
$5 $ $ #$ S $
$

4

$ G #
A@JIM

H*

# $

LXM



4 $ & O G $
) $ $!' 3
$ 4 |/ $
$ $ # $U
) $ 4/ U # #
$ # $ ) $ 4
L& O >B=A CBBM ( $ 3
0 G |
$
$  #
4 $ # G $
4 | L& O =E@D C=JM U $ $ 3
$ $
4 4 $
4 $ $ % $ 5 #-
# ) 4
N $ %
$ "G
$ LXM $ U
4/ ) F #
) / o) | L&
—EEB D>M ) $
$ $ 6 G 1
| L& O =EEB A@>M # $
# $ # - S#
#
) # G
G | $ #
$ G
$ $ I

/ $ 9 # G 4/ 1 L& O >B=

138!



4

/

%

$#

139!

LXM

>>7?7M

0

/

+

I'L& O



>A=M

6 $
) $

>AAM

+

140!

>AA



$#

$#

$ LXM
$
M $:
)
4 4 # LXM
| L >AJM H
| L >JCM +
$
$ $
I $# $ $
$# $ $
$ 5 <
$
7 ) # $# $#
$ $
O
$$
# $#
$
$
$
# $ $
% G #
%
$
#
$

141!



142!

L& O

I U
4 |/
=EEB

>E>

> E /

>EJA4



9
+ $
$ $
+
+ )
+
$ & O
#
#
$
)
9 $
#
) $
$ &
% 8

%

$1 L+1&:,M

$%

143!



$
#
)
it $
U
)
$
$$ #
$
$ 3
$
$
LA AM
L=M
)
G
$
4 |
$#

144!

LA >M L



+

&
& F
.9
#
L2
& O
I G
=E@D
G
G
$ $
#
$
G

>B=CM

145!

LA = =M
>M
!
# G& O
|l L& O =EEB
[
$ $
G $
$
4 $
I
$
9
G $#
) )
G I U
=E@D C=DM (
#

>C



$ # G $
) $ $
: / $ $
L $ MU 4 L |/
L
R M U
$ M I L& O —E@J AB=M
$ G
LXM +
4 # $
N
G $ I LXM
#
$ G
) $ | L
$ $ $ $
$ I L& O —E@J >@EM
$ $
+ G $ $ I
$ 7 $ G
$ |l L& O —E@J >E=M
$$ $ 9 )
)
# -3 $
# -
$
)
ks aaa AR AR
07 g
#
$$ $ $ $

146!

%



o / +
!
$ ) ) $ $ # -
4 / $ # - U
$ 4 $ # 0%
D@ DE G I
$
$ $ u
# $
$ i $
# # G $ I
$ $ $
# # Z | L& O >B=A DDM
G ) LXM $ $
M $ $ L M F
$ G $ |
L D@M & O 9
G $ $ G
G | LXM ) G |
$ $ # $ LXM + )
# # # $$
$ $ $ 3%
Il L& O >B=A D>M
$ 4 / % | L2 9
=EB>M " 4/ / $ %
W $
$ # G | )
$
$ $ # + ) $ $#
# $ #$ $#
be7 g $ $ $ # / $
) $ 4
# #
°F, $ ) # # #
# 9 ) L M $ $
L # M

147!



$93

%

%

148!

$

8

& O
?BM

L=E?E

#$

G

*

$

>BB=M



$$
X 7

149!

EEM

+

LXM



) $

150!

$
$ 4
=BAM
G $
) $
$ $
$
#$
=BC4=BDM
$
=BJM
LXM P $
L
$# % $
$
$ #
#
I LXM



1
-
+

L ===M + & O
$ $ $
$
# U $ $ #
$
# $
$ # G
$ 9 $ $
LXM $ 4 /
4
| L ==A4==CM 7
G ) /
LXM *
9 $ )
9 U
4 |/ $
$ $ U
/ I L ==C
( $
$
) ) 7 G
LXM 9 ) $
)
$LXM
) $# $ $
) | L =>B4=>=M , $ $
$ & O
G Y I L =>@ N
$
) )
$ /

151!



152!

$ $
| L =
) #
$
=ADM
$' G .
3 $
)
# #9% & O
$
$
4 LA > =M
LA > >M
#
$
$ G | #
$ $ !

$
A=M 7
$
$
$
$
G
LXM



$3

>JJIM

#$ $

153!

%

#_
$
$3$ #% % S
$
7
/
)
$ $
$ g
{
G
/ ) $
) $
#
$

4 #3$ $



%

)
I L

$

>JJM

9

154!

(
$
)
$
$
)
#
. 9
L=EJCM & O $
# #
$ %
4
) $$ #
)
$ $ #$ $
$
$ # 0%

#9$

$ 3



$$ #
G % $
$ 9% $ )
G | G
$ ) $ $
L& O =EEB EBM +
$ $ $$ # $ $
$ $ 3 $
# $ $$ # )
) L $ M
M & O )
/ $ $ )
* 9 # (
) |
9 #
K M / ) $
| L& O “E@J
# 0 '
$ $ |
# )
$ $ $ 7 8
& O
$
$ $#
$ #
) G # %
$ | L& O “E@J >JEM
# 4 |

& O

155!



G 9 )’B | $
$ )
$
$ + ) & O G 9
#
$
) )
X )
9 ) ) ) 9
| LXM 7) )
+
L >SJoM
G
$ ] A $ 3
$ $
9 # | L& O
$ % $ / # $
6 $
# $
G # %
LXM + $ $
$ 9 #$ I L
$ 3%
$
H
# $ $ $ $
# K 4 19 %
G I ( G
$#
# +
$ #
T
B $ )



157!

%

$#



4

/

4

/

| L=EEB

LG

158!

>B>M

%



$ & O =E@J
$ / w $ $
A A $#
1
LA A =M
LA A >M $ #
$# $ 3
$#
& & P!
$ G
|
)
$ $
$ 9 G
G
# , #
#$ $
$ $ ' G
# # LXM
# #
$ $ 9 L >?2=M
# - $ #
$# $ $
$ # U

159!

L
>EBM
$

G



#$

$#

160!

LXM *

4

>?2>M

/

+

$#



LXM

4

/

161!



$

=EEB

$ &
$
$
(
$
$
& &
= $
$ 9
$ 3
# $
%
G 4 4
| L& O
$
$ % | L
&

) )
$ #$ $
LV =EJD’" &?2M™

G
G $
$ L& O
$
# $
L TR
i 0% & =EEB

162!

@ [

>CBM

$#

$%



L& O

163!

$
=EEB >CAM + $
$ G
9 G
F $#
M N $ G
#
$# 8
/ | L M
& O
G * LXM $
$
$ L& O
) $ $ 9
| $ 9 $
$# U
$ $ $ 93
) #$ /
# $
$ | $
$ $ $# % $
# ( & O G
#
>C>M G
+
/ $
4
$
4 Y | M
) & O
$$ #
$# G +



$

$ #
)
F
O G
$
$ $
$
) ) $
# -
$)
>SE=4>E>M +
#
# #
$ 3
>CJIM
O

G

)4 |
LXM

$#
5%

164!

$3

%

$ 3



)

4]

$/$

>ECM

165!

9%

>D=M

AM

$3



|l L& O

166!

—tE@J

>JAM

#$ $
$$ #

7

) #

$

9%



$ 3

/

4

I$

$#

9%

/

4

%

$5

%

167!



%

168!

>M



169!



# $
$
1 $
# $ $ $
L==M 1 $ #
$ L= >M $ $
9 $ L= AM
($ # - $ #
$ # - ) %
$ S$
$ $
L $ -M
A= >BB?
$
>B=>M
J>
$
$ 4
# $ = =M $
$ 9 $ L= >M
o !
$ G * |
#H - ==
L T
) %

170!



IA —E> BBB
$ G # $ $
$ IC (I $ $
$# $ 7 $
$ $
$ #
#
$# $# $
( $ $ $
# L1 2 #
F $ G | G % $ 3
. $# :
$ $# $ U $#
U
F $ # $ G &$
G O $ 1 $ $
: * L :*M
&$ U ok
& L &*M #
F
K : L &K: M
$ . $ .3 $L >.M
$ $ $ $
# $ $ $
L
JA $ # _ $ #
)
e, vox U $# $ %
$ 4

171!

$#
$M

$#
$ $#

4 |/ $ $7



% ” *
$ $# % & * L &*M
$ $# G $
$ %
$ $ I &*
$
+ $ #
$ ) G
$ # # $ L
) ) $ XM
$ U U #
) # $ (
$ &* $
$ &
# M U $ &
9 # #
# # #
$# F $ 9% $ K
L K(M $ #$ $
$ $ $
# $$# % .$ $ *
&*
&$#
$ $# $ $ .$ $ L >M
$ $ $ 7 #
$ 9 $ # 6
G $ $# % 9
$ $ $ $
G ) $ $
9 $# $ s % $#
$ G $ 9 $ I
T
P $ ) \' Q >B=A

172!

L :*M
$ $#
4 4
$#
$
$ $#
$
L 9
7) $
(#
$
L .*M P
O
G



$ $ $
G/a $ | 9 $
$ $ 9 $ $ $
9 # L / &*M $
# # + ) $ $#
+ & & + L+&+N
#
N 6 $ $ * #9$
$ $ L* .M $ $ 9 G
$ $ $ $ LXM 7 9
9 # H$
$ ) # S
$ $ = $
6 $ )
$ # $
$ $ #

6 % # ) # -
# $ $ G N B - ISLN. M, N.
# $ 2 )27TM
#$ # $ $ $ U
27T & $# # # $ G
$ $ 1L >M $ $
# $ # $

27T, # $ / $

$ $ G & $ I L &M

173!



M I
)
$ $ P
# $$
w
$ $ #
# O $
$
>BBA >B=>M
$ )
F +
$
M
F 7)
$
< $ U
F 3 #
# $
L ) $
$
# # - 7
$
# #
# - (
#

#9$

L

)$



%

#$ #

27T

U
/

$

L27TM
)
$ 3
# -

175!

$

$
9

+
$# $

%

$#

L&7MM

#

$#

CM '



176!



$ $ $ $
= ) $
$ $
$ &$ ) $# $
$ $ $
$ $ 4
$ $ & 27T L=
)
L= > >M
G | (
?
G 9 $ ) Q%
$ $ $ $ I L =
$ ) $ $
G $ I
$ $
$ 3 4 ( G $ $
$ $ # $ $
$ $ $L
$
/ $ #
9 | LL( . >BB? |=EEDAM
, $ $ " & $
) $ $ $ "& " $
$
$
# $
# L"# =E@J CE4DBM
G $ $ $

# $ LXM $

177!



) #
LXM
$# o)
L (

#$ # $
$ $
$ ) -

U 4
$
N
$# +
2 #
$ $
) $ $
# - $
W G
$
#
#$ 3
#
L $
M L
)
&7 ) # -
$ w # -

178!

) $

$%



179!



&7

LIX

$ 3

>BBC

+7 )

>BAM

180!

7

##



$$ I $
$
?
0
$ )
$
# - O
)
$ #
$ $ >BBB
$
# - G
G
$
$
$ $
* # $
$
# $
#
$ $
$
$ $
M
IR AR A AR AR AR AR A A AR AR AN AR ATNRY
Iy g ) =

181!

%

4 /

$ —E@B

G

4

$ #

%

9%



7 4 # 7 # $ $ $ $
% $ ) $
+ $ ) $
$ $
) # )P
% ) # $ $
$ $ #
- 9 # 0% #
H#H -
) $ O $ /
# $ $
G $
$ #
# # $ ) /
$#
$ $ #
# ) #
4 $ $ ) )
7 $#
$ $ #$ $
# $ % $ = G
o . =EECM
$ ) $ # L
$ $
#XM $#
$
$ " ) ) #
L TR
7N $ G $ $ 71 $ $ $
7
e G# | $ $ #
L>BBJM $ # G
I $#

182!



%

183!

%

) $



184!

9 $
$
$ 9 $ $ 9
$# L= A =M
$ $ )
$ $ L= A >M
$
$ 9
$
9 $ $
)
Qs
# $ $
)
$ $
9 $
$ $#
$ L>BBDM
$ #
$ 3 #
$ G 9 $
$ )
$ # )
$ L M
L =CM $ S )
9 + $

) $



Q3%

$ 3
9
/ $ $
$$
N
LXM 1
#
$
$#
$
$
$
$ #
4 I
$
$$
$# LXM

185!

$
G
$ #%$ 3
$
)
E@M
$
$
/4
$ |
$
$#
#
# $%
G )
$
$#
#

DDM

$#

3

$#

DEM



%

$#
) $
$
$
9
+
$
L>BB>M

$#

186!

#$ LXM 7
7
$$ | L
$ JE&O
4 I L
$$
$
#
L2

L>BBCM
$
$ LM #
) 8
##
# #



7)
$#

L+7M

#$

Q%

187!

&7

L



>BBC

188!

L=EE> >B=>M
#
L=E??M
)
SB=>M

$+4



189!

% $
$ $
$ $
[ 9 # $
G < |
$
) $
$
/ $
$ $
$ #
% L> =M
$ L> >M
$ $ L> AM
$
$
"H#$ #
#
O
$ G ,



190!

%

LXM
) #

>BBJ



191!

$#

“E@?M U
4 |



#$ $

#$ $

$ 9

>M

$

$3

192!



8 = $# $ G
$ G 8 I
$# #$ $
# $ ) %
$%$ # U
% | 9
XM ) %
8
G # %
| L& O “E@J >JEM
$ # 9
L # 2?2M
$
$ o]
) $
# 9  * #
) $
# $ $ %
$
5 5

193!



$#

$3

%

194!

LG

/

LG



> N ) $
$
$ $ )
$ $$
9
L>>=M + $
)
$ L> > >M
!
$$
% ) $
$
P
# $ $ $ $$
L $M $
$ $$ $ $ .
$$
$
)
2 # $
$% ) $
$
$ $ S
$$ ) % ) P
" ) #

4/

195!



$
$
$ $
$3 $
$ $
|

+ )

9 $ $

# $

$
=)
$ $
)
$
+
)
$
$ / $

1

9 4 |/ $

#
$
)

LLLLOL O vt e meeeeeren

196!

$3



$#

4

/

197!



1 $#
# Q$
$# $
$ L
$ 1
$# ) ) $
$
G I G $ I
& >
$ ) ) $#
) P ) $
#$ $ 1 G 9
) 6 6 $ )
’DAU $
9 $ $ )
$ 4
$ $ $
o] $ ) $
$
$#
LU L
2> 4 # $)
$ 3 $
$ #
A7) " G h( # ) < i
L4 9% 4 H
< $ 4 $$ 9
$ $ / <
$ $ F L M7 $
$ / $ 4
$ < L M 7 $ #
i h

198!

G F X



$%

$#

$#

199!

$#

$#

$7



$ G | $
$ ) $ #
) $# %
$ * # 0 S#
) #
$ $
N # $ $ $ $ $ s
$ 9 $
$ # 9 9 $
$# ) 9
> A # 9 # $
Q$
# 9 )
$ ) $ -
Js $ $
$ LA =M $ )
$ $ $ ) LA >M
$# 9
$ 3
& $ [
!
# D9 $ ) # 4 4
7 $ # $ $
T
€1 2 $ # Q% G |
# G | +7 G | &7 ) $
°Dy ) >

200!



=1 & * !
!
$ "' =E > = Q3% )
4 $# U > = )
$ 4 $# =
Q3% $ ) )
4 $# U $
=A Q% 4 $#
+ $ =@
>= U ) ) $ ) 9 $
Q% $
Q$ U Q$
) $# (
$ $ % EM '
+
1 0 $$ >= / >=
$
1 0$ >= / >=
) )
4 $#
1 0$%  >= $  >=
) )
4 $#
6 $.9 $ S$
Q $ $ $ >
$ $ )
9 #
?J # 4 )
ox +7 ) &7 $
A * > =

201!



202!

)
1 $
$
$ 4 $# G &
>@ $
Q$ 4 $# G | L
$ M > =A
7 ) G $ - E Q3
=> P $ $ $
| G 5 |
+ $ G #
>C $ =D Q% 3
$ =B $ )
LJ D Q$ M $
C Qs M ( 9 3 $
=BM '
I * Q3
$
&
>@ =C
' L
$ 3 >J =A
M
7 => E
$ >C =D
& =B J
$ + # J D
$ 3 J C
6 3.9 Q%
$# $ >

L.



Q%

203!

%

Q%

$%

LJ



#9$

%

$ 3

$#

41

$%

204!

%

Q%

$ 3



$#
$ $ F
6
$ $
$ $ %
$ 6
$
9 4
F F
9
$ 9
# >
4 |/ $
$
% #
#
$ $ M G
+ $ $ 3
#$ $ $ #
$
$
+
L
7y ' G
/ #
# $
BTy G ( $# )
|
@87y ' G :
) ! )
$
$ |7 |
@=7) ' G hi
#

205!

$#

#
#
$
$
$$ #
$ $
$$ )
)
$ %
# L
G
# L
M 7@
)
@:
# 1
i
#
$



206!

%

I L

$$ 9

9

=EE-=



$%$ 9

% n

207!

Q3%



208!

& O $ $ $ (9
) $ L=M
$ L>M
$ )
# LAM
A &3 = ) $
#9$ $
4 $# G 9 $ I
) 9 ) )
$ )$
) $# LA = =M 9 $
) %
$ $ $ LA = >M
& @
I # 6
* $ #
# $
) $
G I $ ,
$ ) $$ $$
) $ 9 $
1 $ )$ L@ =>M
$ # - # $ G $ $
$ $ $
$ $
$ G
$ #
)
# $ G
+ G $ 4 $ | $



209!



210!



$ 3

) #

$3

211!



/
$
$
P #
4
$
$#
+ $ /
/
#$
$
$# $
$ $
$
G I
$
#
$
$
$ 4 %
$ $
(AR NN NN NRA NN AN NRANRANNRANRA RNy
HALLLALLAL AL 11 |
=D AB ) $ $
$ $ $

212!

$#



=1 &
!
#
=M +
$
#$
$
#
% $
$ 41
$ +
#$
$ $$ $#
)$ $
(
$
C $
#
@c
$ # 9
$
$ $ $
$ $ $ +
$ $

TLLLOLU O v e mereeeren

213!



A &$ > ' &%
$ #
& O G ) $ / /
# # #
$ 4/ 1 L& O —E@J J=M
6 $ $ ) $ $
( $
# # $
$ 4 7
Q$ )4 |/
$ LA > =M
$ $ ©°° 3
LA > >N
& G !
#
$
6 $ - )
- $ $
# LA Q%
M )
# 6 $ Q$
# )
$ $ /
+
# #$ $
$ 9 5 #
# )
Ty
@D ) $ 4/

214!



+ $$ @J %
# 9 $ Q%
$ $ H $ & O @7
) Q$
$ $
# $
6
$ G $
$ ) $
LXM # F
4 |/
I L =E?A ==4=>M . 6 $
/ $
6 $ $
#
Q$
G I W
) $ $ $ 9
$
$ $ # $ ee
$ $ $ $ 9
L M U
# $ $ G |
$ G | L $
$ $ M / $
# 9 )
#$ $ $ + $
L
@J1 2 #
$ Q% )
$ $ Y4 |/
@74 =E?A
ea 4 A > A >

215!



$%

216!

$#



#$

) $

217!

(
$1 L& O

& O )
LXM

( 9
& O
“E@J

\/



) $

) $
$ 9
$ #
) $
%
|
) $
) $
) $
#

) $

218!



|
A AS A ) $
/ 6 $ 3
& O $ # G @
$ P $# P
$ LXM +
# # $
| L& O =EEB >>?7M
)
) $
L > > A >M
) ) $ 9
) #
G @E 4 |
LA A =M #
$# 9
$ L $
#
9 $ 3 LA A >M
& & ' B
#
# 9
& O
$ S$L > > > > M (

$ 3 #

$ $ $
$ $ $ ) $
$ $
T
@E1 C /
$ $ G <

219!



N
+
G
L& O
9
6
6
L
#
G
$#
$

$
|
0 G&XM
$
>A=M
# #
+
$
$
$#
) $

220!

$#

) $

EB

¢)
6 $
U
$#
o#
$ 8
$
# 9
4 4
/
> A A
) $
G $ #
4 #
6
5 $



$
)4 |/
$
6 #
9 )
$ $
)
( $
$
+ 9 $
L M W
E= $
/ $
$ $
$
L
9 L $ M $
7 $
9 6
9 ) 9
)

TLLLOL O v e meeeeeen

221!



& &
1
& O
#
)
#
W $ 3
5
> )
)
) $ #
E> $
#
)
$ #
#
+ $ ) 8
$ $
$ W $
#
$
A |
E>G S$
|
EAG + #
X
6 $ #
X )
ECG
( ) # )

EC

%

LXM2



a , >BBC U K # 8 , >BBJ U K
# - 4 $ # S $ $ # 3
$ $ $ % $ Q%
$ $ $
ED( $
Q $ $ $ Q%
Q L ) 2
>B=BM Q $ % $
#
7 $ $ $ $ $ %
4 /
$ $ W $ $ $
$
$ $ /
$ % / $ 7 $
$ / $ # $
# # $
$ $ $ 7
$ $ $ #
$
P # /
$ % $ $
$
+
$ $ $
$ $
$ $ $
$
+ 9 #
) $ L 9
T ey
=P+ ) G ( (
LXM + $ $ |



#9$

2241

#

$ 3



$
$
$
$$8%

225!

9 %

#



$#

$#

$ 3

226!



$3

227!

) $



( # )
+ % - &,
$
$
$ $
$ $ $
$
$ | G
$ $ L=M $
#
<
L>M 1
$
$
) +
# $ $
AM *
$ $
L= =M
4 # #$
= >M
$
$
$ 1 $ )
$ $# $ | L= =
$ $ #
#$ | L= >M $ $

228!



$ %
$
* $
9 M
>B=BM
L & —E@AM
L K i
i $
$
3
7 $
$ )
it L
ML # ==M
T T T
EJl
G $ $ #$ S |
#$ $
$ #$
$ $
)
G $
)
# #
$ 9
$ $

$# $ 5 #$ ¢

$ )
$
$# #
L )
$
>BBJM
# $ $ $
Q% #
!
$ %
# M
$ L>B=BM
G#$ $ IL G #$ IM
$
# o, $ $ $#S$ $ #
#
G <9%$ I $ G #% $ |
) $$ $
$
$ 3
$ $ 7

229!

) # 3 $
EJ
L9
#
>BBC K
$#
$ %
$ 3
$GI $ %
$
$ #
$ G
$
# 7



=1 PO
!
6 $ $# $
$
$ $ 9 $
8 G $ | L& O FXE@D$ C>BM
9
$ 7 $
$ #
$ 7 G F
>B=A DDM $ $
L M G
| L D>M $ $
$
% $ $$ # $
$ 9 $ $
#
$ /
$ $ 9 N
$ $
$ $%$ $

230!



L K

#

231!

) $

%

) #
>BB@M

L3

-XM

#

=EEJIJM

4

/



232!

L9

4

/

#9$

#$ $

$ 9

#9$



$ $ )
$
#$
* #
$ $
$ # 0%
$ 9
$
$ 3 E@ A 9
$
$ * #
$
4
$
$ G
$
$ 3
#
/ o) L
$
#
$
) $
$ % L
$
$

) #

233!

%

#$

$



$

LLLLOLU v v e mereeeren

$

$

234!

#9$
#9$

$#



L*.

$
$ $
)
$# $
=AM '
% $ $ #
$ G #$
$ 9 $
$ 9
$ $ $
$ $ $ /
$ $3% # +
4
LXM
$ $
$ $
I $ $
$ $
/
$ 4

235!



236!

= P
$ ) $ X ]
$
) #
) o)
G | vs
) | .
* +
6
G <
$ o
< $
) $
$ #
$
)
<
° $ # G
i 5 # 5
$ LXM +
”
L& O =EEB  >>?M
< P
p 5 $
$ 7
O -BB .
$ g .
=B= s 9



) #

$ 3

$#

=B>, )

$#

237!

$9%

4

/



$ $
$ % & O s s s &
G P 7 | 9
$
9
$ $ 3 $ .
$ $
L& O >B=A C=BM , $ §
$ $ LG
/ #
° $
s $ $ + o
$ % % .
$ $# $
$ 4 3 . "
6
$ , . s
6 s $ $
$ $ Y ) L
e v $ 9 $ L
M $ ) .
< 1 $ )
L C AM
| s 9 ) 3
’ <
G 4 4 | . $

LLLLOLU O v e meeeeee

238!



239!

$ 9



240!

$#

%

$#



$ 3

#9$

)4 9

241!

$%



242!

# L AM $ %
$
$
L> =M L> >M
> $ $
( $ $
$ 3 $
) $
#
) M
4 $ $ $
$ # -G
$ G $ L
>B=AM $ $
5 % Y
$
6 $
# % $
) $ $ $
/ O
$ $
) $
$ $ L> =M
@)
$ L> >M



#

$

243!

$3

AM



$93

$ 3

$3

2441



+
N
1 9
= |
@) $
$ $
$ $ !
#
$
P
$
#
+
9
TG #
9
$ 7
| #
L >B@M
/
$ 3 / $

9
L=E@A
$ #

]!

#$ $

245!

$

=B? O

$
]=EJ="M

O $

7

>BCM

#$ $



L &

@)

=EEB

?IM

246!

A

$93

>

AM

@ |

2



O
$
$ L $
G, O
$
9 )
# $
) $
L =E>M
G
#
)
+
L
/ # $
$
)
$ #
$
$ $ $
$ 9
$ 3
#
$ L M
$ L
M
LU
=B@ " o]

$$ G

247!

$
#
# - LG
#
$
#
$
$
$#
$
$
M 6
$$



248!

L> > =M
#$



249!

$ LXM

G
“E@A ]=EJ=~

% $

% +

$%$ %

\/



) #

)4 |

LG

/

) $

250!

%

=)



=EEAM

$ 3

%

251!

$#



$ G , $
# $ @) LXM |
$ # LXM
# $
) $ $ $
$ I
=EEAM 7 G O I G
$ $ 9 $
) & O + $
$ 4 40 /
$
O /
7 $
# /
$ L M
9 G I #$
#
L M $
$ U 6
# $
6 6 $
6 ) # $# $
$ $ $
M 5 9
$ $ $
$ $
) $ ) $
W # $ # $
O /
+ $
/ $ 3% 4 4 ' $
$ 4 4 #

#9$ #

252!



253!



%

2541

$#

$ 1/

=EED

&$

?AM
$

+

$%



% 8

)

P

%

255!

4

/



#
< $ $
$ $ U $ $#
“PE N $ $#
9 ) LA =M LA >M
A £ $ $#
9
) #
$ # G $ $
) $ | L>BBJM )
$
) $ I $
$ $ / 9 % ) $
# ( $ 3 G $ $
) $ 1 + 0% $
# $ 3% $ 9
$ < $ $
$# 4 $
$ % 6
$ / $ <
) # $ Y
$ $
< )

L LR



%

257!

%

) $

4

/



%

$3

$
$ 9 $ /
/ $ 3 $ |
) $
$ %
G7 $
) $
$ ) $1 L M
# ) $
$ 6 $
) #
% $
# # # G *
#
$
( 6
) $ 4 3 L =
$ $
M
) #
G +
% $# $
) | L =CM * #
F G $
=2M G %
/ $ $ 9
# 4 4
$ $ LXM ,
#
# #
$#

258!



# ) ! $
4 LXM ,
+ #
$ $
%
$ ! /
$ $$
$
/ $$
$ $
#
#
+
<
)
$
& #
$$
$ G $ ##
# /
I L >?M
+ O
$ $#
$
$
#

$ #
$ % # | L >IM
$
) $
$
) #
# %
#
#$ $ 7
$ @)
# %
$  #$
# $
$ % 6 Y
) #
$ $Y
9
$
$ $ (
$ $
#
W
$ L
# M ' $
#
$# 4 Yy *

259!



>?M

%

260!

6

>@M



$
$
M 6
#
#
$
$
$M 6
/
G
=EEAM

261!



) $

$#

N #
$
#
)
< $ #
9 %
/
$
$ $ #
< + $
$ | L
F
$ $
# $
$#
$ $
LXM
$ $% #
$93
$#
$

262!

$#

L

9 $
@>M

$



$

263!

LA

> =M

$ 3



LLLLOL L v e mereeeren

CM

#

$%

HH

) #

264!

$ 1 LK

>BB=

$ 3

%

tE@J

$
)
:>|\/|,
# $
$ 9
$ )
$ 9
$#
$ $
$
$ )
$
L
$ # #
$ )
#
G !
$
?EM



265!

—tE@?7?

$# $

ABDM

DAM

+

Il L+1&:, M





































































































































































